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a-0Q, =x,cos0+y,sing £V

0Q, =(X,, ¥,) —(x, cos@+y, sin 8)(cosd, sin )
=(X, — X, cos®> @ —y, sin @cosh, y, —x, sin@cos@ -y, sin’ @)
=(x,sin?@—y,sinOcosh, — x, sin cosé + y, cos’ 6)

- —

b-0Q, :73(xn sin? @ -y, sin 6cos ) +%(—xn sin @cos @ + y, cos? 0)

:%xn(\@sin2 6 —sin 00050)+%yn(cos2 6 —/3sin 6cos o)

n=1m& &

Xy = 4, sin2 6 — 4y, sin 0cos O — 3x, (+/3sin2 6 —sin O cos B) — /3y, (cos 6 — /3 sin Ocos )
=X, sin2 @ -y, sin Bcos b +/3x, sin Gcos & — /3y, cos? O
=X, (sin? 6 + /3 sin 6cosf) -y, (sin 6cos 6 + /3 cos? 0)

Vi1 =—4X, sin 6¢os 0 + 4y, cos? 6 — X, (\/3sin2 6 —sin O cosH) — y, (cos? 6 — /3 sin Ocos )
= —3x, 5in B¢0s 6 + 3y, cos? 6 —/3x, sin 2 6 + /3y, sin O cos O
= —\/§Xn (sin? 6 + J3sin O cos 0) + x/§yn(sin 60 cos 6 + /3 cos? 0)

IREY L Y =X BEIL L, nZ2D L Xy, =—3x, THHND

Xpi = X, (52 6 ++/3sin 6c0os ) + /3, (sin O cos 6 + /3 cos? )
= (sin? @ + 2+/3sin O cos O + 3¢os? )X, = (sin O + /3 cos H)?x,

N= 2123 T, 51 x, HEZA (sin 0 + V3 cos0)? DI TH 5,

F. (%, V) =L 0) KD, x, =sinO(sin 0 ++/3cos) TH DN,

(X VAT 2 51F 1) 0=(in0++3c0s0)’ =1 i) x,=0 DOVWTINThD,
ol {y, ) bIBRT 201 LN TH D,

DDOL X —1=<sin@+/3cosH=1

A
sin @ ++/3cos =2 1sin6’+£cos¢9 =25in£0+£]i@ }
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0 ..6=0, %7[, Vs 6’=§7r X DOEFEICE END,

sind=0 i?‘:&isin9+\/§cosaz23in(6+%j

BUEIZED . {x), {yol 2 BICUCRT 2460 . 0=0, n,%geggﬂ,gngegl—;ﬁ ------ (s

z<6’<%7r,g7r<6’<1—617r0)<‘:éo 0=(sin® +~/3c0s0)? <1 TH %5 . lim x, =lim y, =0
n—0
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0=0,7 DEZE (X, ¥,)=0,0THDH205 . limx,=Ilmy,=0
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6’:1,5”,37;,27:0)&% (sin9+\/§cosa)2:1“63?>%>75>% lim x, =x,, lim yn:—\/éx2
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